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pAl:m:VAl:mA’ = ; =128¢cm’
V., p, 0.8g/cm
p = % =m, =pV, =pV, = 27 128 =3456cm’
0
p =M 210005
A, A, 20x107? 50x10°
F mg 10 10
pmin = - - - 250pa
e
Py =Py = %+pf4h+p2/éh2 :%—i_pl/éhl
= ph+ph, = pl/jhl
h h
S g = ph+ph, _ (1.24)15 + (1)(12) _ 1139
h, 27 em?
Y
P 2700 pa
p:pHygh:>h: = =0.2m =20cm

P9 13500kg/m?
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A, = A, = A [%] 6) =4 [%] (20) = (4)(5) = [%] (20) =

2
d
EZ] =1=d,=2cm

b ol Gorg) Cays S8 sakais Py &l bp, mle puled Joxe jo blas 5l (SO) l5en (galadi 9o (28,5 Jlai o L A
ol JBLl Lol 5l eolainl 5 (p
p, + pgh, — p,
gh,
76.5x10°pa + 13.6x10° 10 22x10*m — 101x10°pa kg

= p, = — ~ 11027
9.8 4x10 m

P, + pyghy = py + pygh, = p, =
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